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fPo; fhl;lg;gl;Ls;s cUf;fspy; ,UGilr; rkr;rPu; cs;s cUtpd; fPo; NfhbLf.

2. RUf;Ff.

3. P vd;gJ xU njhilahFk; vdpd;> n(P) If; fhz;f.

4. ,d; epfu; khw;iw vOJf.

5. RUf;Ff. 5.6 x 3.3

6. ngWkhdj;ijf; fhz;f.

7. xOq;fhd vz; Kfpapd; tpspk;Gfspd; vz;zpf;ifAk; cr;rpfspd; vz;zpf;ifAk; vOJf.

8. RUf;Ff.

� 01 Kjy; 20 tiuahd vy;yh tpdhf;fSf;Fk; ,j;jhspNyNa tpilaspf;f. xt;nthU

tpdhtpw;Fk; 02 Gs;spfs; tPjk; toq;fg;gLk;. (2x20=40)

gFjp I

,uz;lhk; jtizg; guPl;ir - 2018

tlNky; khfhzf; fy;tpj; jpizf;fsk;

ngau; /Rl;nlz;:

fzpjk; - .Ks;h
Neuk;: 2 kzpj;jpahyk;juk; : 8
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9. 625 ÷ 25 = 25 MFk;. vdpd;> 625 ÷ 0.25 ,d; ngWkhdj;ijf; fhz;f.

10. A, B ,f; apilapyhd tpfpjk; 3: 4 MFk;. B, C ,f; fpilapyhd tpfpjk; 5:2 MFk; vdpd;>
A, B, C Mfpatw;Wf;fpilayhd tpfpjk; ahJ?

11.    324  ,d; ngWkhdj;ijf; fhz;f.

12. RUf;Ff. (-5) - (-7)

13. x  ,d; ngWkhdj;ijf; fhz;f.

14. 15 x 2.8 ,d; ngWkhdj;ijf; fhz;f.

15. (a x b) 3  vDk; tYtpd; ngUf;fj;jpid fhuzpfspd; tYf;fspd; ngUf;fkhf jUf.

16. fhuzp fhz;f. 15a + 18b

17. 8a + 4ab + 4ac vDk; Nfhitia ,U fhuzpfspd; ngUf;fkhf jUf.
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18. (-1)5  ,d; ngWkhdj;ijf; fhz;f.

19. P={ehw;gf;fy;} vdpd;> njhil P ,d; 4 %yfq;fs; vOJf.

20. mk;dh> R[Pdh> jpYk; MfpNahupd; epiwfSf;fpilapyhd tpfpjq;fs; KiwNa 6:4: 5 MFk;.
R[Pdhtpd; epiw 40kg vdpd;> jpYk; ,d; epiwiaf; fhz;f.
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� Kjyhk; tpdh cl;gl Ie;J tpdhf;fSf;F khj;jpuk; tpilaspf;Ff.

� Kjyhk; tpdhtpw;F 16 Gs;spfSk; Vida xt;nthU tpdhTf;Fk; 11 Gs;spfSk; toq;fg;gLk;

gFjp II

a) i) NkYs;s Kf;Nfzpapd; mff; Nfhzk; Kd;W
vOJf. (2 Gs;sp)

ii) mk; Kf;Nfhzpapd; Gwf;Nfhzk; %d;W vOJf.
(2 Gs;sp)

iii) NkYs;s cUtpy; cs;s Nfhzq;fs; d, e, f,  I
ntl;b Ntwhf;fp Gaq;fs; xd;NwhL xd;W
nghUe;JkhWk; Nfhzq;fspd; cr;rpfs; xNu
Gs;spapy; mikAkhWk; xl;Lk; tpjj;jpid fhl;Lk;
cUit ckJ tpilj;jhspy; tiue;J fhl;Lf.

(2 Gs;sp)
iv) ,ilntspf;F nghUj;jkhd ngWkhdj;ij ,l;L vOjpf; fhl;Lf.

m) Kf;Nfhzp xd;wpd; mff; Nfhzq;fspd; $l;Lj;njhif ...................................... MtJld;
Gwf;Nfhzq;fspd; $l;Lj;njhif .......................................... MFk;.

M) ehw;gf;fy; xd;wpd; mff;Nfhzq;fspd; $l;Lj;njhif ............................. MtJld;
Gwf;Nfhzq;fspd; $l;Lj;njhif .......................................... MFk;. (4 Gs;sp)

b) cUtpy; fhl;lg;gl;Ls;s juTfSf;F Vw;g

a, b, c ,d; ngWkhdq;fis fhz;f.

a =...............................

b =...............................

c= ...............................
(6 Gs;sp)

2. a) i) ,d; xU rktYg; gpd;dk; vOJf. (1 Gs;sp)

ii)    I Kiwikay;yhg; gpd;dkhf jUf. (1 Gs;sp)

b) RUf;Ff.
i) ii)

(2 Gs;sp) (2 Gs;sp)

iii) iv)

(2 Gs;sp) (3 Gs;sp)

3. a) ngWkhdk; fhz;f.
i) 3.42 x 0.84 (2 Gs;sp)
ii)  825 ÷ 1.5 (2 Gs;sp)

b) i)       : 2   =  20  : 8 ntw;Wf;fl;lj;ij epug;Gf. (2 Gs;sp)
ii) epky;> fky; Mfpa ,Utuplk; cs;s gzj; njhiffSf;fpilapyhd tpfpjk; 7:5

MFk;. epkyplk; cs;s gzj;njhifia ,Utuplk; cs;s gzj;njhifapd; gpd;dkhf
jUf. (2 Gs;sp)

iii) je;ij xUtu; jd;dplk; cs;s gzj;njhif &. 2000 I kidtpf;Fk;> kfDf;Fk;
mj;NjhL kfDf;Fk; 5:2:3  vDk; tpfpjg;gb gpupj;J toq;Ffpd;whu; vdpd;> kfDf;F
,ilf;Fk; gdj;njhifia fhz;f. (3 Gs;sp)
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4. a) rkd;ghl;il jPu;j;J x ,d; ngWkhdj;ijf; fhz;f.

i) (2 Gs;sp)

ii)     3y + 2 = 11 (2 Gs;sp)

iii) (3 Gs;sp)

b) epkyplk; &gh x cz;L. Rdpy; ,lk; epkyplk; cs;s gzj;njhifapd; Kk;klq;Fld;

&gh 100 mjpfkhFk;.

i) Rdpyplk; cs;s gzj;njhiff;fhd ml;rufzpjf; Nfhitia vOJf.

ii) Rdpyplk; cs;s gzk; &. 850 vdpd;> epkyplk; cs;s gzj; njhifiaf; fhz;f.

5. a) i) mUfpYs;s cU Kf;Nfhzp ABC ,d;

gug;gsitf; fhz;f. (3 Gs;sp)

ii) cUtpy; x ,dhy; fhl ;lg ;gl ;Ls;s

ePsj;ijf; fhz;f. (3Gs;sp)

b) glj;jpy; fhl;lg;gl;Ls;s cUthdJ nrt;tf

tbtKs;s xU fhzpj;Jz;lhFk;.

i) NkYs;s fhzpAs;s gug;gsitf; fhz;f.?

(2 Gs;sp)

ii) fhzj; Jz;il A, B, C Mfpa gFjpfshf gpupj;J

mjw;Fupa ghij epow;wpf; fhl;lg;gl;Ls;sJ.

ghijapd; gug;gsitf; fhz;f. (2 Gs;sp)

iii) ghijf;F xJf;fg;gl;l gpd; vQ;rpa fhzpj;

J}z;bd; gug;gsitf; fhz;f. (1 Gs;sp)

6. a) i) 32% vDk; rjtPjj;jpid vspa gpd;dkhf jUf. (2 Gs;sp)

ii) 12 : 25 vDk; tpfpjj;jpid rjtPjkhff; fhlLf. (2 Gs;sp)

iii) Fwpj;j gog;igapy; ,Ue;j nfha;ahg;goq;fspd; jpzpT 20% MFk;. ,g;gog;igapy;

s;s goq;fspd; nkhj;j jpzpT 2kg Mapd; igapDs; fhzg;gl;l nfha;ahg;goj;jpd;

jpzpitf; fhz;f. (3 Gs;sp)

b) Fwpj;j rPdj; njhopw;rhiy xd;wpy; Muk;gj;jpy; ,Ue;j Copau;fspd; vz;zpf;if 200

MtJld; mjpy; 40% khNdhu; ngz;fshtu;. ,U khjq;fspd; gpd;du; mg;ngz;fSs; 15

Ngu; ntspehL nry;tjw;F njhopw;rhiyapy; ,Ue;J tpyfpr; nrd;wdu;. ,tu;fSf;F

gjpyhf Mz; njhopyhsu;fs; Nru;Jf;nfhs;sg;gl;ldu;.

i) Muk;gj;jpy; njhopw;rhiyapy; Nritahw;wpa Mz; njhopshu;fs; vz;zpf;if ahJ

vz fhz;f. (2 Gs;sp)

ii) ,U khjq;fspd; gpd;du; njhopw;rhiyapy; cs;s Mz; njhopyhsu;fSf;Fk; ngz;

njhopoyhsu;fSf;Fk; ,ilapyhd tpj;jpahrj;ijf; fhz;f. (2 Gs;sp)
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7. a) gpd;tUk; ml;ltizapd; ntw;wplk; epug;Gf.

jsTUtk; ,UGilr;rkr;rPu; mr;Rfspd; Roy; rkr;rPu; mr;Rf;fspd;

vz;zpf;if vz;zpf;if

rkgf;f Kf;Nfhzp      3 ...............................

,izfuk; .................................. 2

rha;rJuk; .................................. ..............................

xOq;fhd Iq;Nfhzp      5 ..............................

(5 Gs;sp)

b) X ={ ANURADHAPURA vDk; nrhy;ypy; cs;s vOj;Jf;fs;}
i) NkNyAs;s njhilapd; %yf;fis ,ul;il milg;gpDs;Ns vOjpf; fhl;Lf.

(2 Gs;sp)

ii) A vd;gJ xU #dpaj; njhilahapd; njhil A apw;F Xu; cjhuzk; vjpf; fhl;Lf.

(2 Gs;sp)

iii) njhil A ia  FwpaPl;by; vOjpf; fhl;Lf. (2 Gs;sp)


